RN 34 BE S S i < AR TE IS8 B Ak
(BAAT: )
No X4y Jiti 7% 4 B RS ET B4 RN
(f&) Edax
1| # 2 AR — L|&hE 1,000,000 A ¥ A= 1E SCHEH% At i = 2
(BT = B T
(FFFF) B4
9 DL 310,000 | fifi 5% PN BR 522 i 3
|| (B T FHATIT)
(F53E) 207
3 LD FEIEZERT 980,000 {i % b1 L i & L5+
|| (BT FEATET)
B =k Ak (f5) 2R PEfR Ak
4 [ — b R ¥ presmar—e 2R ETbLEl 1,500,000 F FRE AR QW EEGSE T %
(3t 55 ke S P2 BY) (FEAATH 1| 5 BOHT)
B (—#h) E A DAL
5 P e ASRIT 180,000| A 01— AR # T
|| (BT T L)
(—fk) 72— A
6 TIo— TR 1,000,000 {25351 B Hh H fig =52 (B8
(BT SFHET)
(f&) BT H
7 A=A L oN—RT Tr 530,000 |32 PE it By 2 H i = 2
|| (BT 2 e 1-HT)
(I 1T EHEEFRTHT
8 B NIAT T I 880,000 LB f&E TH
G (EtA T REIANT)
( % # f mH|(FIE) ITdhL
9 ot 320,000 s NERBZ 26 (=7 =2 11H)
|| =BT ERT)
(f&) EEE a2
# U—7vH—3<b1H 1,500,000 3380 [ B o8 fi =5 2 (3T (Ra—7f))
(Eboiis )
(&) # LA k=
# I 5 3 S8R i B | m i L 1,350,000 25380 8% [ Bh fR i 353 (Am— )
=BT ERT)
536 e Yl Y P 294 FEE A 74 U B
it 9,550,000 9,523,362

N2 RS SCE LR B TR
26,638

K




